
नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

ए पोन ट ए  ेशन को सरल बनाना (2 चर)

3x × y (x × y )(−4) (−4) 5 5 (−2) 6x × y (x × y )(−1) (−1) 3 4 5

4 × y (x )(−2) 2 2
x × y (x × y )5 (−4) 5 5 2 2 × y x (x ) x (y )4 (−3) 2 6 (−3) (−3) 5

4 × y (x )2 4 (−1)
6x × y (x × y )6 3 4 4 (−2) 6 × y x (x ) x (y )4 (−3) 5 4 (−2) 3 3

1 × y x (x ) x (y )3 (−3) (−1) 6 (−1) 3 (−2)

2 × y (x )3 2 4
6x × y (x × y )2 (−6) 5 5 5

8x × y (x × y )5 5 (−1) (−12) 3

4 × y (x )3 (−1) 2
2x × y (x × y )5 (−6) 6 6 (−3)

www.snowmath.com

https://www.snowmath.com

